
Fixing Guide for Remote Control
This is a guide for fixing the remote control on a flat surface of the boat. 
Please refer to the back-side of this card. The two bold circles indicate 
position of the two 5mm-deep-holes of the remote control. The 
M6×12mm screws in the package can be used to screw in the holes. If 
the length doesn’t match, users should adopt other screws (M6, Pitch 
1mm).
Please contact your local dealer or service@epropulsion.com. If you 
have any questions or feedback regarding this stationary operation. 
Your feedback is highly appreciated. 

Befestigungsanleitung für die Fernsteuerung
Dies ist eine Anleitung zum Befestigen der Fernsteuerung auf einer 
ebenen Fläche des Bootes. Bitte beachten Sie die Rückseite dieser 
Karte. Die beiden fetten Kreise geben die Position der beiden 5 mm 
tiefen Löcher der Fernsteuerung an. Mit den M6 × 12 mm Schrauben im 
Lieferumfang können die Löcher eingeschraubt werden. Wenn die 
Länge nicht übereinstimmt, sollten Benutzer andere Schrauben verwen-
den (M6, Teilung 1mm).
Bitte wenden Sie sich an Ihren Händler vor Ort oder an service@epropul-
sion.com. Wenn Sie Fragen oder Feedback zu diesem stationären 
Betrieb haben. Ihr Feedback wird sehr geschätzt.

Room 201, Bldg.17A, 4 Xinzhu Rd, Songshan 
Lake, Dongguan, Guangdong Province, China

Guangdong ePropulsion Technology Limited

www.epropulsion.com



41mm

98m
m

2×   6mm

Plotting Scale - 1:1
Screw Size - M6×12mm


